EARAROBEEIERT — 2 N— IBISH —F

20129F4A1H (B) 2mEpR#48

R Xl

REEFI

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | & (&) 14000 RR

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o 4 3 | EPE 1:24.9 4-4 37.7| 85.1 | 3 440 |PARE (ER)
1 12| 7V ah 54.0 (- oy | B) FravbTr—L4
RiFATAT v — BiEa—-UFq— J—HrIr—L
e 43 | IERE 1:24.9 1-1 38.1| 8.1 | 7 564 | BESFFE (ER)
2011 |EvZE—-} 56.0 (7E) (6) | B TU—>Tr—L
R:FATATv— BRAb—LT4TL2R HET7— L
. # 3 | N EXF 1:25.1 7-5 37.6| 83.3 | 2 468 | BBEIE# (FEX)
3(5]10 NTHLT—2R 56.0 (1 1/4) +2) AR
RNd BFTX 2 —NTT— L
F—X—J #3 | AVHREER 1:25.2 99 |37.7| 824 | 9 | 484 |EFEL (RR)
4 4 56.0 (3/4) (-6) i FL—ER
R:4v2Y3Y B:x-5v¥— =
= s H o3 | EHEEER 1:25.4 2-2 38.5| 80.8 | 10 | 476 |:kEEE (R®)
5 6| T T TLF1INT 2.0 0/ ey | TEER
XN T4 XF— BTFAILT TV~ 71 I LS
=8 ft 3 | BEGEE 1:25.8 3-2 38.8| 77.4 | 1 464 | MIZFFH (RR)
6 8 Yr/FIT 54.0 (2 1/2) (=) 28A
L:TFATLREM L BAR—LXA—hk—L FRESS
. . J 1 B : = BEHES (FR)
sl vavremns oS Py | e || e | e RRRS
:7LrFFEaTe Bid-LNTFNR=T ZHKE
; = 4 3 | HE—H 1:25. 10-10 [ 38.1| 76.1 | 6 482 | EAHEEE— (FH)
81815/ 777 7IN—=F1 b 56.0 (5 E) (1) |EHE
RTIRATFIEI B RNAY—Y—2R =Rl %%
# 3 | ML 1:26.0 13-12 37.8| 75.2 | 1 436 | THEEZ (EX)
9 8 16 X?’r)b:E [‘t)( 54.0 JE) (+2) 2iEW
R:7 R34 YAV —-> B:A-UAIAIL S
= 4 3 | ESEME 1:26.2 4-5 38.9( 74.0 | 5 496 | RERFIZ (3ER)
10 5| 771 ) 5 =2F= 56.0 (1 1/4) (-g) |MEE
YT N—K B:~NLb NZRAMIY=T7—L4A
s s B 3 | FRH 1:26.2 12-10 [ 38.4| 73.6 | 13 | 450 |HEETT (EXR)
1 1 Ea—E—7FZX 54.0 (7E) (+6) *rvERLTST
R:rh—> B:xI—7 FRT7 7 — L
7 3 | AEEN 1:26.4 15-12 | 37.9| 71.6 | 12 | 420 |[3FEE (ER)
12|51 9 F—Id— )b 56.0 (1 1/4) (=) HHE
L:ALTr7AT B:AX/77UT 14— 2HIT7— L
g — > 3| BEF 1:26.5 15-12 37.9| 70.7 | 16 474 | BREEEABA (EH)
18713 F Y37 7 AT N 77 e ) Cra) | EBE=
L:¥xrinqo— Bikya—vv—7 =litie)
# 3 | AHEEHR 1:26.7 4-5 39.5(70.2 | 4 446 | RHET (RR)
Eﬂ 7| F=—T71 25— 56.0 (1 1/4) 4o) | ARIEX
X THANAIN BIINT 4 IN—7 J =Y Tr—L
= # 3 | dERKR— 1:28.7 13-15 40.2| 54.6 | 15 462 | BKAE (ER)
1512 FavAZ1H— 56.0 (54 4) +10) P
YRG5 B:xA7z=—Fz A AKX
SES # 3 | BA#ET 1:29.7 10-15 [ 41.7| 49.3 | 14 | 488 |IFEE (R®)
£=3 ho/721—7 56.0 ®6) +2) #
LTAYNLKR BE—FZ AH tF
@ 71 L
) 50.2-38.1
NA>Z24 L | 12.4-10.9-11.4-12.1-12.4-12.5-13.2
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= (x1,6)8(7,5,12) (10,14)4(3,15)11(2,16)-(9,13)
43—+ — (x1,6,8)12(7,5,10)14,4(11,15)-(16,9,13) (3,2)
[ N3
B O 12 500H 714K 1-12 1,040H e E 1-6 2,600M RPEL ) 1-10-12 3,040/
8 B 12 180F4 10-12 360M B = 1-12 2,830M B 12-1-10 21,580
1 380H 1-10 720 B H 12-1 4,930
10 140M

ABICOVWTRDTEEERROODE. TR LIV,




